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1 Introduction

In the previous meetings in RAN1, the following agreements have been made:
	RAN1#89
· The maximum number of SS-blocks within SS burst set, L, for different frequency ranges are

· For frequency range up to 3 GHz, L is 4

· For frequency range from 3 GHz to 6 GHz, L is 8

· For frequency range from 6 GHz to 52.6 GHz, L is 64
· Note that RAN1 assumes minimum number of SS blocks transmitted within each SS burst set is one to define performance requirements
RAN1#90
It is up to UE implementation how to select the SS block and corresponding PRACH resource for path-loss estimation and (re)transmission based on SS blocks that satisfy threshold(s)


Furthermore, the following issue has been marked as FFS in the open issues listed by the rapporteur of MAC specification:
	[Issue 5.1.2-1]
RAN2 needs to conclude whether ssb-Threshold is mandatory or not. Also, RAN2 should discuss the case when multiple SS blocks are above the ssb-Threshold.


In this contribution, we discuss some of the remaining issues in RA with multi-beam operation.
2 Discussion
Based on the agreement from RAN 1, the maximum number of configured SSB for different frequency range is defined by L, which assumes different values on different frequency ranges, while the number of SSB configured can be any integer below L. Hence, it is possible that only one SSB is configured for a certain serving cell. In this case, the threshold, which is used for SSB selection, will be meaningless since there is only one SSB. This case is similar to the scenario in LTE, where there is no such SS selection. Hence, in this case, the threshold for SSB selection should not be present. In other case, where there are more than one SSB configured, selection between SSBs will be required. Hence, the threshold for SSB selection will be needed. 
Proposal 1: ssb-Threshold should not be present when there is only one SS block configured; ssb-Threshold should be mandatory when multiple SS blocks are configured. 
Another problem with the current RA procedure is that it does not consider the case when there is no configured SSB whose RSRP is above the ssb-threshold. We think that when such case happens, the MAC entity should continue with the RA Resource Selection, similar to the behaviour of the MAC when RA problem is indicated to the upper layer. When the channel condition of a certain SS blocks ameliorate, the UE will be able to select a SSB whose RSRP is above the threshold; when there is no suitable SSB and the reselection continues, the higher layer will trigger RLF. 
Proposal 2: When none of the configured SSBs’ RSRP is above the ssb-Threshold, Resource Selection should be performed indefinitely.
In RAN1#90 meeting, they have agreed that “It is up to UE implementation how to select the SS block and corresponding PRACH resource for path-loss estimation and (re)transmission based on SS blocks that satisfy threshold(s)”. According to this agreement, it should be up to UE implementation to select one SS block if multiple SS blocks are above the ssb-Threshold, either for the case of CBRA or CFRA. Furthermore, we think the same rationale should apply for the CSI-RS selection for CFRA. Hence, we make the following proposal:
Proposal 3: It is up to the implementation of the UE to select the SSB/CSI-RS if the RSRPs of multiple SSBs/CSI-RSs are above the threshold.
3 Conclusion

In this contribution, we discussed several remaining issues for RA with multi-beam operation and had the following proposals.
Proposal 1: ssb-Threshold should not be present when there is only one SS block configured and it should be mandatory when multiple SS blocks are configured. 

Proposal 2: When none of the configured SSBs’ RSRP is above the ssb-Threshold, Resource Selection should be performed indefinitely.
Proposal 3: It is up to the implementation of the UE to select the SSB/CSI-RS if the RSRPs of multiple SSBs/CSI-RSs are above the threshold.
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